1. Consider the  economy of United States  and Mexico. There are two goods, computer chips and tequila, and two factors of producion, skilled and unskilled workers. Computer chips are relatively intensive in skilled labor, and there are no technological differences between both countries. Initially there is no trade. 

(a) Compare the relative goods prices under autarky in the United States and Mexico. Use a diagram to illustrate your answer.  
Under autarky, and there will be  excess demand for skilled workers in unskilled-labor abundant Mexico and focus on unskilled-labor intensive products will lead to a decline in their wages relative to other factor.   So Mexico will be able to produce tequila much cheaper than in U.S. However the shortage of skilled labor will also lead to an increase  in their wages and computer chips  will be manufactured more costly than in U.S..

On the other hand in U.S there won’t be tooo much difference between the wages of skilled and unskilled workers because there is not much scarcity of skilled labor as in Mexico.  Tequila will be more expensive than in Mexico  but computer chips will also be cheaper.
Since U.S and Mexico are assumed to have identical technologies, they will have the

same production functions available to produce computer chips and tequila. 
Assume that autorky price of tequila and computer chips in Mexico are $5 and $10 and in U.S autorky prices are  $7 and  $8 :
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The  autorky prices for each goods in U.S and Mexico will be determined where supply meets demand. Both countries will face different prices for the output goods. The difference in prices alone is sufficient to cause a deviation in wages between countries, because it affects the marginal productivity. The difference in wages will also affect the capital-labor ratios in each industry, which in turn affects the marginal products. All of this means that for various reasons the wage rates will differ between countries in autarky.
b) What does your answer in (a)  tell you about the trading patterns once the two countries open up their borders?  Who has a comparative advantage in what? What does comparative advantage  have to do with the relative  factor intensity of industries and the relative factor abundance of countries?

U.S.  has an absolute advantage in the production of computer chips since this good is produced more efficiently with skilled labor and Mexico has more comparative advantage  with lower cost per unit of production than in the U.S with unskilled workers. Relative factor abundance can help a country to produce cheaper, thus is it is a sign of competitive advantage. 
c) What is the effect of free trade on the real wages of  skilled and unskilled workers in the U.S.? And in Mexico? What do you think was opposed to NAFTA in the U.S? Explain your answer in detail. Use diagrams and analytical  expressions where needed.
Since the price of tequila is cheaper in Mexico than in U.S and the price of computer chips is cheaper in U.S than in Mexico  U.S will import  import tequila and export computer chips. Mexico will import computer chips and export tequila.
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p* = equilibrium price

The quilibrium price will be determined between the price of each good in U.S and in Mexico according to supply and demand conditions. This will lead to an increase on the real wages of unskilled workers in Mexico and skilled workers in U.S and a decrease on the real wages of skilled workers in Mexico and unskilled worers in U.S. 
Factor-price equalization lead to some arguments during the approval of the North American Free Trade Agreement (NAFTA) between the US, and Mexico. Opponents of NAFTA feared that free trade with Mexico would lower US wages to the level in Mexico. Factor-price equalization is consistent with this fear, although a more likely outcome would be a reduction in US wages coupled with an increase in Mexican wages. 

However the assumptions above are not practical since there are protective laws  for labor  

İn U.S as opposed to NAFTA and it is not very easy to immigrate and work in this country. So the wages of skilled or unskilled workers in U.S won’t be much effected due to the abundance of labor in foreign countries.
d) According to Hecksher-Ohlin Model , what would free trade do to the wage differences between  Mexico and the U.S.? Use a diagram to explain your answer.

According to this model  if the prices of the output goods are equalized between U.S and Mexico when they move to free trade then the prices of the factors ( skilled and unskilled labor) will also be equalized between countries. Soon this will equalize the wages of workers in both countries even though factors are not mobile across countries. Since the two countries face the same wage rates they will also produce each good using the same labor ratio. However, because the countries continue to have different quantities of factor endowments, they will produce different quantities of the two goods. 

First talk about production possibilities curve (PPC). A PPC is a graph that shows the different quantities of two goods that an economy could efficiently produce with limited productive resources. Points along the curve describe the trade-off between the two goods. 
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Point A in the diagram for example, shows that TA of tequila and CA of computer chips  can be produced when production is run efficiently. So can TB of tequila and  CB of computer chips s (point B). The slope on the PPF curve represents the marginal rate of transformation and  measures  e.g. how much of tequila is given up for one more unit of computer chip or vice versa.
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If there is factor mobility as in the graph below, factor  prices will be equalized between 2-3.
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e) As a result, what should happen to wage inequality within the U.S.? And to wage inequality within Mexico? 
As a result output prices will become equal in the two countries. Since the two countries will soon share the same marginal productivity relationships only one set of wage rate will satisfy these relationships for a given set of output prices. Thus free trade will equalize wage rates because the countries continue to have different quantities of factor endowments, they will produce different quantities of the two goods. 
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